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Mgmt 380

Assignment #2

Defining a linear programming model, solving it graphically,

and presenting the analysis

DUE:  February 6

15 points

You may work on this assignment in teams of two, and turn in one paper for the team – both team members will be assigned the same grade (see II.b. on handout #1).

If you choose the “team of two” option on other assignments, you must work with at least three different people throughout the semester.

A mining company owns two mines that can be operated seven days a week to produce ore.  The mines have different locations and, thus, different production capacities.  After crushing, the ore is graded and divided into three classes:  high, medium, and low.  The two mines are capable of the following daily production in tons:




Mine 1

Mine 2

High Grade

6

2

Medium Grade
2

2

Low Grade

4

12

A contract with the smelting company calls for 41 tons of high grade ore, 25 tons of medium grade ore, and 77 tons of low grade ore per week.  It costs the company $2000 per day to run the first mime and $1600 per day to run the second mine.  The mine owner wants to know the number of days to operate each mine in order to fill the smelting company’s order at minimum cost.

Your assignment must include the following:

1)  the linear programming model

2)  the graphical solution

3)  the executive summary (see handout #1)

4)  all other requirements for assignments stated on handout #1

